Melbourne Contract Bridge Centre

Has temporarily moved to new premises
MCC Bowls Club - Hawthorn
19 Swinburne Ave Hawthorn 3122
Tel: 9853 1449   ABN No: 88 791 813 415
website www.melbournebridge.com.au
Directors:   Ian Mansell   Sandra Mansell

Newsletter for week ending 05 May 2013
Mon

Sally Foster & Lesley Johnstone**
Janet Reynolds & Peter Cork
Tue
Day
M O’Brien & Mim Blomquist**
Irene Knightly & Cathy Green

Night
Barbara Smith & E Underwood 
Henry Gasko & Dan Taggert**
Wed

Mary Cliff & Cecile Senior**

Peter Karol & Roger Kenna
Sat

Jacob Lau & Wing Law

Eve Tuck & Pam Hart**
Hand of the week: Board 27 nil vul Dealer S
Using the Law of Total Tricks
South opens 1(, and West overcalls in spades. First decision for North:  should they double to show hearts and clubs or should they just show their five card heart suit? Whilst most people would show their 5-card heart suit, what is of interest is that by doing so North-South end up in the wrong suit. Because of the unfortunate heart suit break, 5( doesn’t make whereas 5( does! How could North-South find their club fit? North, having the two unbid suits, should have doubled rather than unilaterally bid 2( to show their 5-card heart suit!
Over the 2( overcall East jumps to 4(. South decides to sacrifice in 5(, and after two passes East faces a dilemma. With a trump stack, West obviously is void in hearts, therefore potentially there are only two losers – a club and a diamond. Should East Double or bid 5(?
If East uses the Law of Total Tricks they know that they have an 11-card fit whilst North-South have 3 + 5 = 8 trumps and therefore have bid too high. Therefore Double is the correct decision. 
The next Saturday Red Point Event will be on 26th May 2013 at 1.00 pm.

The next Tuesday Red Point Event will be on 7th May 2013 at 7.30 pm.
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